Pythagorean Theorem Notes

Steps

· __________________________
· __________________________
· __________________________
· __________________________
· __________________________
Right Triangles
· Longest side is the _________, side c (opposite the 90o angle)

· The other two sides are the ______, sides ____ and ____ 

· Pythagoras developed a formula for finding the length of the sides of any ______ triangle 
The Pythagorean Theorem

For any right triangle, the sum of the areas of the two small squares is equal to the area of the larger.”

Step One

A=___






B=___






C=___
· Step one plug the numbers into the formula.
___^2+____^2=____^2
Step Two

· Step two, take the square of A and B.
6^2=___    8^2=____
· Now plug the numbers back into the formula.
36+64=x^2
Step Three
· Step three, add A and B.

36+64=____
· Now plug the solution back into the formula.

_____=x^2

Step Four
· Step four use a opposite operation to eliminate the square in ____^2 by taking the square root of the sum of A and B. 

_________ of 100=10

· Plug the solution into the formula.

____=x

Final Step
· The final step is to check your work. Check your work by plugging the answer back into the original formula to make sure the answer is correct.

___^2+____^2=___^2

____+____=100

_____=100

Name:__________________________________________

PYTHAGOREAN THEOREM  -   WORKSHEET

Answer all the following questions:

I
c is the hypotenuse of the right triangle ABC with sides a, b, c 

1.
a = 3 ;   b = 4;  c = _____________

2.
a = 6 ;   b = 8 ;  c = _____________

3.
a = 12 ;   b = 5;  c = _____________

4.
a = 9 ;   b = 12;  c = _____________

5.
a = 15 ;   b = 20;  c = _____________

6.
a = 8 ;   b =____________ ;  c = 10

7.
a = 15 ;   b =____________ ;  c = 17

8.
a = ____________ ;   b = 40  ;  c =50

9.
a = ____________ ;   b = 2     ;    c = 4

10.
a =  1.2  ;   b =​​​​​​​​​ _____________   ;  c = 3.5






